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2006 8 — 115 —
B/m 8.5 10.5 2 3 4 5
A/m? 5.759 4 7.376 9 1 0. 375 0.4 0. 393 0. 394
L/m 20 20 2 1.25 1.1 1.143 1.132
Apg/m? 3.14 3.88 3 0. 375 1.1 0.928 0.974
qL/t 299. 49 383. 6 4 — 0.4 1.143 0.974
/t 8. 164 10. 088 5 — — 0. 393 1.132
/t 16. 328 20.176 6 — — — 0.394
3 85m m
2 3 4 5
R
1 0.037 9 0.027 2 0.013 4 005 0
2 0.132 6 0.098 1 0.082 6 0.045 4 017 8
0.068 9
3 0.037 9 0.082 6 0.038 7 0.038 3 016 9
65 0.015 8
4 — — 0.027 2 0.045 4 L0169
5 — — — — 0.013 4 .017 8
6 — — — — — — . 005 0
1 0.025 7 0.019 7 0.010 9 . 005 4
2 0.087 4 0.064 6 0.056 4 0.033 6 L0170
0.046 9
3 0.025 7 0.056 4 0.027 8 0.028 0 015 2
100 0.014 6
4 — — 0.019 7 0.033 6 015 2
5 — — — — 0.010 9 017 0
6 — — — — — - 005 4
4 10.5m m
2 3 4 5
R
1 0.013 3 0.010 6 0. 006 2 L0035
2 0.044 5 0.032 8 0.029 3 0.018 3 .010 3
0.024 4
3 0.013 3 0.029 3 0.014 9 0.015 1 L0090
200 0.008 7
4 — — 0.010 6 0.018 3 .009 0
5 — — — — 0. 006 2 .010 3
6 — — — — — — L0035
1 0.008 9 0.007 1 0.004 2 . 002 4
2 0.029 7 0.021 9 0.019 7 0.012 3 .007 1
0.016 3
3 0.008 9 0.019 7 0.010 0 0.010 2 . 006 1
300 0.006 0
4 — — 0.007 1 0.012 3 . 006 1
5 — — - — 0.004 2 .007 1
6 — — — — — - . 002 4
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Approach to Calculation of Bearing Off-Center of
Curved Beam Bridge

SU Ji-hong', ZHOU Jun-sheng*
(1. Beijing Jianda Road and Bridge Consulting Co. Ltd. Beijing 100016, China;
2. Beijing ZhongHanWei Communications Co. Ltd,Beijing 100101, China)

Abstract: Two methods about how to calculate the bearing off-center of curved beam bridge are
presented ,which is common but no conclusion now. The two methods are minimum off-center method and
coincidence off-center method. The principles of the two methods are explained, the formulas and
calculation tables with practical engineering are given, and the two methods compared. Last,it is indicated
that the off-center values decrease commonly with the increase of curve radius R,number of span and the
value G»/G,.
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[ R S U W W P W P W WP W2 W P W 2 WibZa W 2 Wi M 2 Ml Ul el e U U U U U U U D U D U U D W WU W W U W W Wz W g W e W g W e W e W e g
, , 224.8 m,
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3 600 t s o

s N ’ s 4.5m °



